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20193 A|A = AHSTHHT AFAMNA A3

(9D

T & A &=
of| 2k <B AEE oAk s o Ak eh AdE dAk s
&
A= | H] h= S | H] R =S | H] R =S | H] A= | H] R = | H]
1.+9g8 5022
538,521,000 | 40% | 4,042,322,470 | 79% |-3.503,801,470 | =87% |21 =3 = o = o 1,262,587,210 | 95% | 4,302,740,260 | 84% |-3,040,153,050 | =71%
—i‘_]_'zxﬂ_u’ﬂ’i—l
100,006,000 | 7% 387,676,253 | 8% |-287,670,253 | -74%| [1)A+eg €ln) 125,087,000 | 9% | 354,600,253 | 7% |-229,513,253 | —-65%
413,422,000 | 31% | 2,215,858,000 | 43% |-1,802,436,000 | -81%| [2)A] A} 1] 1,118,322,710 | 84% | 2,542,771,790 | 50% |-1,424,449,080 | —56%
13,784,000 | 1% 77,479,717 | 2% |-63,695,717 | -82%| |3)ZF A ¥ AL H) 16,983,000 | 1% | 53,173,717 | 1% |-36,190,717 | -68%
10,006,000 | 1% 10,006,000 | 0% 0] 0% | |4)Latate]n] 2,000 | 0% | 990,002,000 | 19% |-990,000,000 |-100%
1,303,000 | 0% | 1,351,302,500 | 26% |-1,349,999,500 [-100%| |5)-% <3 ¢|H]-& 2,191,500 | 0% | 362,191,500 | 7% |-360,000,000 | -99%
6) g ANEF 1,000 | 0% 1,000 | 0% 0| 0%
) FEAE T o 29
2 20,000 | 0% 20,000 | 0% 0| 0% %;;o S 1,020,000 | 0% | 13,020,000 | 0% |-12,000,000 | -92%
T L.U—'T—g_l
4,000 | 0% 4,000 | 0% 0| 0% 1) F AR A A &= 4,000 | 0% 4,000 | 0% 0| 0%
[e) 6{{} A=] = <
7,000 | 0% 7,000 | 0% 0] 0% 2%)‘” P15 1,007,000 | 0% | 13,007,000 | 0% |-12,000,000 | -92%
H ] A & X
3,000 | 0% 3,000 | 0% 0] 0% P;.TZ)TC’ P = 3,000 | 0% 3,000 | 0% 0] 0%
4)7) e $- 52} 6,000 | 0% 6,000 | 0% 01 0% | |07 gEA21% 6,000 | 0% 6,000 | 0% 0] 0%
3. 3AFE 5ozl
EERp 3,000 | 0% 3,000 | 0% 0] 0% %;%%%ﬁ 3,000 | 0% 3,000 | 0% 0] 0%
IR K P 2,000 | 0% 2,000 | 0% 0| 0% 1) -] 2] A3} 2,000 | 0% 2,000 | 0% 0| 0%
1,000 | 0% 1,000 | 0% 0] 0% | 2)712=usk 1,000 | 0% 1,000 | 0% 0| 0%
797,109,710 | 60% | 1,070,527,500 | 21% |-273,417,790 | -26% 4.7 & A& 72,043,500 | 5% | 797,109,710 | 16% |-725,066,210 | -91%
1,335,653,710 | 100% | 5,112,872,970 | 100% |-3,777,219,260 | —74% g X & A 1,335,653,710 | 100% | 5,112,872,970 | 100% |-3,777,219,260 | —74%




HE s

- maE) | L Sos, | Bz SENED
538,544,000 | 4,042,345,470 |-3.503,801,470
HEZSOR0I5HH 538,521,000 |4,042,322,470 |-3.503,801,470
NEly="E- Rl 100,006,000 | 387,676,253 |-287,670,253
(1124 2,000 | 282,140,243 (282,138,243
) 1,000 | 148,535,463 |-148,534,463 1,000
Lb. &red 1,000 | 133,604,780 |-133.603,780 1,000
Qnseg+ 90,000,000 95,532,010 [-5,532,010
oh. 1 90,000,000 95,532,010 |-5,532,010 El 90,000,000
90,000,000
(3) KI Al TH AFR 4 10,001,000 10,001,000 0
Jb. KIAITHAFR AL Al 1,000 1,000 0 1,000
LE XA T A2 & 40! 10,000,000 10,000,000 0
10,000,000
10,000,000
(4)EHIRHAAI R E 42 2,000 2,000 0
Ob SR AR 1,000 1,000 0 1,000
Lt. 1,000 1,000 0 1,000
(5) 71 E+&LSE 1,000 1,000 0
It JIEHA 1,000 1,000 0 1,000
2)XNAZBLABS 413,422,000 | 2,215,858,000 |-1.802,436,000
(e 172,626,000 | 310,345,000 |-137,719,000
It 172,625,000 | 310,344,000 |-137,719,000 &t 47,334,000




HE s

i

0Ok

HEE

= ol (1 aea(z) | S22 Zo ()

) BIM SHAUA 2EE £ As 4 48,544,000

Al DS (2RIE &) 47,620,000

Hol2tSet shs=H 9489st E&ES| 29,127,000

A | 172,625,000

L. AFQIT &1 40l 1,000 0 1,000

A 1,000
useg 240,795,000 | 1,340,512,000 |-1,099,717,000

.1 240,795,000 | 1,340,512,000 |-1.099.717.000 [20194 4XtAIIS Y HH| Z2AXE 2HI0IE M2IILS B 108,640,000

H OIM 2RSS QEINS A HA 2ok 108, 155,000

S W= 29 4,000,000

HASZE Oloh D= LEIMA 5,000,000

MPNE=F= k=i 15,000,000

A | 240,795,000
(3)JIEHRI& S 4 565,001,000 [-565,000,000

JbIIEIRIE 24 565,001,000 |-565.000,000 1,000
AFHSAS 13,784,000 77,479,717 |-63,695,717
(1)4kst 18,964,717 |-18,961,717

o arsteleioing 18,962,717 |-18,961,717 1,000

A 1,000

Lt. 1,000 0 1,000

A 1,000

Ct.JIEFALS 1,000 0 1,000
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HE s

HEE

= Ts = () | oSem) | B(A)2 2o(1)
(e2go+e! 1,803,000 | 1,351,302,500 |-1.049.909,500
b Ol Kt==< 1,300,000 1,300,500 -500
1,000,000
2= 300,000
Al 1,300,000
Lt. BN 1,000 1,000 0 1,000
Ch.&ole 1,000 1,000 0 1,000
et IIE 2 1,000 | 1,350,000,000 |-1.349.999,000 1,000
Al 1,000
HEsoRol8E 20,000 20,000 0
1) S XX 22 4,000 4,000 0
(N&EII= 1,000 1,000 0 1,000
(22317 1,000 1,000 0 1,000
(3)=X3 1,000 1,000 0 1,000
(4)1E+E 1,000 1,000 0 1,000
S THAHDH 24 7,000 7,000 0
(1) = XI0H 1,000 1,000 0 1,000
(2)2d= 1,000 1,000 0 1,000
(3)2==0 1,000 1,000 0 1,000
(4) 21 A1 =002t CH 1,000 1,000 0 1,000
(5)& D151 S 002 TH 1,000 1,000 0 1,000




e B Ol At () A= | g0y [OFF () | WD
2| =] = e Ol &t 24 ()
(6) Xtk 22 00 24 CH 1,000 1,000 0 |O=&EX 1,000
(7)1 EFt & XHAHOH 2¢ CH 1,000 1,000 0 |O=&EX 1,000
3)S & XA It 3,000 3,000 0
(1) XA TH & 0H 2 CH 1,000 1,000 0 |O=&EX 1,000
(2)JHErH| O 2t CH 1,000 1,000 0 |O=&EX 1,000
(3) D1 EFS & XHAHOH 2¢ CH 1,000 1,000 0 |O=&EX 1,000
1)INEHIRET 42 6.000 6,000 0
(NexII20&22 1,000 1,000 0 |O=&EX 1,000
(2)As7120&52¢ 1,000 1,000 0 [OU=EX 1,000
JEEIZESY 1,000 1,000 0 |O=&EX 1,000
(4)J1ElD|1200 &2 1,000 1,000 0 [OU=EX 1,000
Y I=ET=Eael 1,000 1,000 0 |O=&EX 1,000
(6)J1EtH]l 2 S Rhak= 2 1,000 1,000 0 [OU=EX 1,000
3R ESOoIBEZRYY 3,000 3,000 0
1SRl R 2,000 2,000 0
(hat=z25) 1,000 1,000 0 [on=zx 1,000
(2)JIEtHl S 2SIt 1,000 1,000 0 |OU=&EX 1,000
2)laxy 1,000 1,000 0
(1)&sHI23380t 1,000 1,000 0 |OU=&EX 1,000
e 1,263,610,210 | 4,315, 763,260 |-0.052.158.050
| SAYSORQIBMIREYN | 1,262,567,210 | 4,302,740,260 |-3.00, 10,050
DasteHIRE 125,087,000 | 354,600,253 229,513,253
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e B Ol At () A= | g0y [OFF So(a)
=] =] = e ol &t ()
(1) &8t 2t o1 | 35,080,000 | 259,062,243 |-223.982,243
Jb. el 25,338,000 112,065,681 |-86,727,681
EEEMA MM NE FH=E NLEH_SHI|S 25,338,000
A 25,338,000
Lt.Sad0lA 1,000 1,000 0 |O=&EX 1,000
Ch. A2 &Hl. M= 5,000,000 51,000,000 [-46,000,000 [HEE&2INES HEst Dds MHMEION HE_ ASgL(2HEE) 5,000,000
Al 5,000,000
ct. A& =t 1,000,000 23,269,750 |-22,269,750 B =S ALAL et W= BH= JNEEH_SHI|2 1,000,000
Al 1,000,000
OF. A& 0 12,700,000 [-12,700,000
o -
gh. o 20K =& 3,740,000 32,524,812 [-28,784,812 |EERAME S HES N&s MMEON HL_J&R(2HEHE) 1,000,000
HTEAN QNDE 2HX HPE 8|S 2,740,000
| 3,740,000
Ab. RIEHH O 2| 1,000 27,501,000 |-27,500,000 (O ==X 1,000
(2) RS2 90,003,000 | 95,534,010 | 5,581,010
Jb. el 88,000,000 92,964,010 [-4,964,010 |2019E &AM L} MER2F IHY 88,000,000
21| 88,000,000
L. W= OEIHL 1,000 1,000 0 |OU=&EX 1,000
Ct.&st= 1,000 1,000 0 |O=&EX 1,000
ct.alEds 1,000 1,000 0 |OU=EX 1,000
Ot JIEt RS 23| 2,000,000 2,567,000 | -567,000 [2019E AL Mt Atst2H CIE 4 2,000,000




HE s

HEE

NEIE e Ofl Akl () Ofl AFOH () s(a) SAH(H)

Al 2,000,000
(3)XIATHAHAE & 2,000 2,000 0

Jh XA AFE AL AL 2 EHI 1,000 1,000 0 1,000

Lhatste s Az 1,000 1,000 0 1,000
()SRNAIEANEZ 1,000 1,000 0

b EtnAIEAIEE 1,000 1,000 0 1,000
(5)J1EtALSHE & H 1,000 1,000 0

O JIERA S = 1,000 1,000 0 1,000
2)XNISMAHIESREX |1,118,322,710 | 2,542,771,790 |-1.424,449,080
(1)1 324l 192,325,710 345,879,290 |-153,553,580

Jb. el 49,860,000 100,090,000 |-50,230,000 600,000

6,400,000

2017H & (2Kt & 800,000

30,000,000

e H&=3H 12,060,000

H| 49,860,000

Lt. St QI 2] 15,840,000 14,402,000 | 1,438,000 = (2%t 8,640,000

7,200,000

Al 15,840,000

Ch A& 2 48,220,000 89,345,000 [-41,125,000 E AR (2X 15,000,000

6,000,000

DFMRE 27,220,000
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X (=]
T : i — maE) | L Sos, | Bz &= Zo(R)

201748 = (33Xt gt HE=3} 3,719,000

19,833,000

A RIEEA RO EHY| 1,000 1,000 0 |[On= 1,000

(2)ns22H 878,097,000 | 1,477,892,500 | 529,795,500

Jb. el 4| 543,180,000 825,759,760 [-282,579,760 (2019 4 X}t 122k 55,380,000
20194 #FH=4 olador o 57,500,000

20194 80,000,000

20194 48,000,000

20194 3,500,000

20194 3,800,000

198 4 MZ LS| AIE _M 180,000,000

198 A MEZ LGt 45,000,000

20198 o200l A 22| X2 AH 70,000,000

543,180,000

L &N 1,000 1,000 0 |O= 1,000
e 1,000 1,000 0 lon= 1,000

ch. A8 A &l 50,720,000 145,241,250 [-94,521,250 |2019E 4XtAatE S 12Jt2d )t A 14,920,000
20194 =4 0l SHAS X AP olE 2 Y 11,600,000

20194 5,000,000

20194 3,000,000

20194 200,000

198 04 M 6,500,000




HE s

Ofl AH oK ()

rSJE]=
ol ot ()

SHEZH

z | 8| s M=
199 &M SHOIME oA Tz e (NErs) 4,500,000
20198 off & gl 0|2 Al &2l X & HlEH 5, ,000
Al 50, ,000
Ot JIEtnS 23| 284,195,000 506,889,490 [-222,694,490 |20193 4XtAHA S H Y| S2HEE BI0O0IH M2 &E 38, ,000
20198 #FSYE Ol 2B XS NS ZA QIS LH 39, ,000
20198 NEZ0el0l=A 22 X & HEH 40 ,000
201949 =4 2ol 22| K& HEH 21 ,000
201948 & X| 8 s nilts 29 ,000
20194 THel Olol wWits 234 1, ,000
20199 BEENAMSESSINE 14, ,000
199 HEMZLSHIIME_MYHE TSR 60,000,000
198 HAMZLGHIME _HHAMLGIZNH(DELS) 19,300,000
201948 s el olaA 22| X & HEH 50,000,000
A | 284,195,000
(3)JIELNI& 2 A I 47,900,000 719,000,000 [-671,100,000
Jb BN & S At 47,900,000 719,000,000 |-671,100,000 |[19E HAMZ LS| HIE_MI &S K 47,900,000
Hl 47, ,000
)T HIAIHHI BB RENH 16,983,000 53,173,717 |-36,190,717
(1)=& XI&dl 2,000 10,002,000 |-10,000,000
Jb. el 1,000 1,000 0 |O=&EX ,000
U e aigsEs0S 1,000 10,001,000 |-10,000,000 (O A= =X ,000
(2)H 2 XI&HI 14,479,000 36,169,717 [-21,690,717
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p i <R = YL aEa

= | = = Ofl Akl () Ofl AFOH (1) (o) SAH(H)
I IIRBEXAZ 11,475,000 34,304,717 |-22,829,717 |HAtR ¥ AHR2X 3 SSFUI
ME=F=) §ul 500,000
BEEE= 200,000
A2PE 2 100,000
g E =48l 100,000
™3l 600,000
M=t 200,000
A= =Eaty=d 125,000
X0l 300,000
AHZAEEE 6,600,000
SIHEZ JHRAE 2,600,000
3| ol | 150,000

Al 11,475,000

L AIBE s R ee | 3,000,000 1,000 (2,999,000 (2019E Ol 0l=Al 22l K& HE
AHe EHXI &I 3,000,000
Al 3,000,000
Ch. oI PalorE 22| 0 1,860,000 |-1.860,000
Al -
2t g okl 1,000 1,000 0 |OU=EX 1,000
Ot ¢REel St 1,000 1,000 0 |OU=EX 1,000
b e RN EL S 1,000 1,000 0 |OU=EX 1,000
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HE s

HEE

e e Ofl Akl () Ol Ak QU (1) s(a) SAH(H)
A TSR E ST 1,000 1,000 0 [OU=EX 1,000
(3 MEEX 2,501,000 7,001,000 |-4,500,000
b et 1,000 1,000 0 [OU=EX 1,000
U RIATH AR 2,500,000 7,000,000 |-4,500,000 |at&tE &t S5(2/,85,%74X) 2,500,000
Al 2,500,000
(4)J1EHXI & HI 1,000 1,000 0
JbHJIEFXI &I 1,000 1,000 0 [OU=EX 1,000
AUBLAZIHIE S REN 2,000 990,002,000 |-990,000,000
(1)eraeld] 2,000 990,002,000 |-990,000,000
Jr.oA 1,000 520,001,000 |-520,000,000 |©Q H}=2EX| 1,000
Lt 2 EHHIZE H 1,000 470,001,000 |-470,000,000 |© == X| 1,000
2ZAHIBES R 2,191,500 362,191,500 |-360,000,000
(&8 1,000 1,000 0 |[O=&EX 1,000
(2)J1Eet2Z 2 2,190,500 362,190,500 [-360,000,000 (MEAHSHE S E
A g &on o Ok Bty 2,000,000
BAZSEHOMIIE
Oll= Ol At 190,500
Al 2,190,500
SWIIHNESES 1,000 1,000 0
(&g AHA 1,000 1,000 0 [OU=EX 1,000
ENESCR0EE3R 1,020,000 13,020,000 [-12,000,000
S AP IN - 4,000 4,000 0
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HE s

b=

0Ok

= = Ol ko (&) 01&;::(%%) =(n)2 "
(1)EII284 1,000 1,000 0 ,000
() HINEXS SR 1,000 1,000 0 ,000
(3)EN2EXX 1,000 1,000 0 ,000
(4B ETTAE 1,000 1,000 0 ,000
Q)R NMFASKIE 1,007,000 13,007,000 [-12,000,000
(NENHE 1,000 1,000 0 ,000
(2)H2HE 1,000 1,000 0 ,000
(3)2==23s 1,000 1,000 0 000
(4)21 47123 1,000 1,000 0 ,000
GEREEE 1,000,000 13,000,000 |-12.000,000 ,000
,000
()Xt u 7 1,000 1,000 0 000
(7)ALZOIX 1,000 1,000 0 ,000
(8)JIEFR & Xt 1,000 1,000 0 ,000
32N SKE 3,000 3,000 0
(1) XA T AF 2 1,000 1,000 0 ,000
(2)HLHIFS 1,000 1,000 0 ,000
(3)JIEI2 & X} 1,000 1,000 0 ,000
A)IIEHIRSEXMXIE 6,000 6,000 0
(12 1,000 1,000 0 ,000
(2)A=I2H 1,000 1,000 0 ,000
(3)&&| 2 1,000 1,000 0 ,000
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T : 2= maE) | L Sos, | Bz a== Zo(R)
(4)D|E} 1,000 1,000 0 [OU==X 1,000
BhE== 1,000 1,000 0 U=EX 1,000
(6)J1EtH 1,000 1,000 0 [OU=EX 1,000

3o EEoR0lsE 3,000 3,000 0
)Rl A 8 2,000 2,000 0
(e 1,000 1,000 0 [OU=s&EX 1,000
(2)J1EHHIS S 2 1,000 1,000 0 [OU=EX 1,000
2)Jl 2 Sute 1,000 1,000 0
(1)saD 1,000 1,000 0 [OU==X 1,000
(1=-n) -725,066,210 | -273,417,790 |-451,648,420
797,109,710 | 1,070,527,500 | 273,417,780 |MOIZ 2 %y
BEMH2 29,350,000
20198 DEZ
SESp 135,000,000
2019 =H 20|
S ETR 78,000,000
HYES2NE = THAHEOIOT OH
SESp 6,000,000
Lol D Al
DIESSIDN= 2,000,000
2017 = (2XEH &)
DIESSIDN= 1,106,710
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